= o
N & 0l & AF & E A A
M SOt A
FM: YHGID I E2 FAHSE L (MI=EX/=H)
& F=HEF N (chel & 9l)
2A-F3H-H2A(3) - MY - BES Ofl & oH I & Hl w&z2
G O+ Dt 22,069,592 20,032,127 2,037,465
= 13,124,490 13,196, 730 AT2,240
< 3,032,324 1,656,772 375,552
Al 5,912,778 5,178,625 734,153
HESD M) ES FHEE L& (MI=SX/FH) 21,844,076 19,845,556 ,998,520
= 13,124,490 13,196,730 AT2,240
< 3,032,324 1,656,772 1,375,552
Al 5,687,262 4,992,054 695,208
FHEZE i 5,023,178 3,024,658 ,998,520
= 11,400 83,640 AT2,240
< 1,393,420 17,868 1,375,552
Al 3,618,358 2,923,150 695,208
SSFEHX &AL 4,807,200 2,664,200 2,143,000
< 1,390,000 0 ,390,000
Al 3,417,200 2,664,200 753,000
402 RI2HXt20l 4,788,000 2,645,000 2,143,000
< 1,390,000 0 1,390,000
Al 3,398,000 2,645,000 753,000
01 QIR 2 AP B 2 (RHHIXH &) 3,390,000 2,645,000 745,000
O A2t =@ SEHE0 e FAUME (TtDet,
#ixl) &x 18,000,000& * 14 18,000 0 18,000
O &2 s2nd ¥4 &1
27,000,000& 14 27,000 0 27,000
O Z8s HIOIE MYIIE6HE &X
27 OOO,OOO"2J * 1A 27,000 0 27,000
O NZsS HEHSHMEIR HI& 2eE Wi
21,000,000 = 14l 21,000 0 21,000
O Hus e zE&52U2 ¢ S wi
19,000,000 14 19,000 0 19,000
O =28 FSANZOIE M) HotE AR
33,000,000& * 14! 33,000 0 33,000
O g5 AEU=0tIHE CCTV &X
23,000,000& * 14 23,000 0 23,000
O 0MES ZE2tX HXWH &% 2 B4
70,000,000& * 14l 70,000 0 70,000
O 0MS SUALEO0IIE 252 Wi
70,000,000& * 14l 70,000 0 70,000
O 245 2220IE S& Y E 2=
50,000,000& * 14l 50,000 0 50,000
O 245 JLOIE 2= 82 Nl B+
34,000,000& * 14 34,000 0 34,000
OllZEs D=3 14 SE2F LEDES uA
13,000,000 * 14 13,000 0 13,000
O E95 ZAOI0I=0ILE Mg I Hotd &
x| 70,000,000& * 14l 70,000 0 70,000
O EES SHOIIE Hia2gsAld i 2@ o
2 B 20,000,000& * 14 20,000 0 20,000




N = 0l & At & M A

M &otel 2o

HE: WHOD M) ES FAHBY IS (MASX/FE)
Sl ENEY e (S &2)
SA BB SA(EH) - NEAMY - B 0 4t o4 oI o HIRE
O s Aedena g98 o 24
30,000,008 * 14 30,000 0 30,000
O 9IS HEEHOINE =T ZF
14,000,008 * 14! 14,000 0 14,000
O #2S £52S0IIE HIAYEHE DA
28,000,008 * 14! 28,000 0 28,000
O M2E TYNHE S T2 L =X
z3 50,000,008 * 14! 50,000 0 50,000
O NFS QIIZB3SX B0 AstE N2
By 34,000,0008 * 14 34,000 0 34,000
O NEE MIIFZAST 2OES B4 U My
& @l &x 14,000,008 * 14! 14,000 0 14,000
O NES SEXY2R 020l =016 tie &
+ 50,000,008 * 14! 50,000 0 50,000
O GBS SEFZ2x MalJ FatE AX
30,000,008 * 14 30,000 0 30,000
02 BIZAHEAL ZE (O THR) 1,398,000 0 1,398,000
O 272 ZSFe AFHFY
4,000,0008 * 4742 16,000 0 16,000
< 8,000 0 8,000
Al 8,000 0 8,000
O S4E HE2X0IE SZHM[HALH
AE] 40,000,0008 * 14! 40,000 0 40,000
< 40,000 0 40,000
O A2t® SHOIE NS B2 [Ha8d
AE] 20,000,0008 * 14! 20,000 0 20,000
< 20,000 0 20,000
O Z5S EBHYMA FHBLINA [0S HA
=3 50,000,008 * 14! 50,000 0 50,000
< 50,000 0 50,000
O D4E SAUOIE FHSIWL[HALH
AE] 67.000,0008 * 14! 67,000 0 67,000
< 67,000 0 67,000
O D4E DAANFOTE PN
30,000,008 * 14 30,000 0 30,000
< 30,000 0 30,000
O =S HFOIE CCTV SR [N ALSHAE]
20,000,0008 * 14! 20,000 0 20,000
< 20,000 0 20,000
O 2 SYOIE BBNH[HALBHANE
50,000,008 * 14! 50,000 0 50,000
< 50,000 0 50,000
O 25 PEAYODE L2t ALK [0 a4
UHANE] 20,000,0008 * 14! 20,000 0 20,000
< 20,000 0 20,000
O 2E ALOME T2 TE[HMLUANE]
50,000,0008 * 14! 50,000 0 50,000
< 50,000 0 50,000
O 2 HBIOIIE W S0l WP
30,000,008 * 14 30,000 0 30,000




S2A: GO
FM: YHGID I E2 FAHSE L (MI=EX/=H)
& F=HEF N (chel & 9l)
S2A-ZH () - HRAY - BES Ofl & oH JEH Hn&s2Z
=) 30,000 30,000
OdEs AEU=O0IIE SZMHH[0aLEH
NEREE 30,000,008 * 14! 30,000 30,000
= 30,000 30,000
O (XES DOIZOITLE SHIMNA [0l AtA - E A
=3 50,000,000& = 14l 50,000 50,000
=) 50,000 50,000
O NS ZHEOIIIE2R FUEHIIAL MHES]
PAPEEIRSINE=Y 40,000,000 * 14! 40,000 40,000
= 40,000 40,000
O NS F30HE W F2EAAE HE=]
Ol A EAIE] 30,000,000& * 14 30,000 30,000
=) 30,000 30,000
O NS SUHAYT,2XI0ITHE FREHOAIL
d¢Mm@a&A%]30mom%J*wa 30,000 30,000
= 30,000 30,000
O NS SUHASOIIE W FUEJAIL N
Sx[0M4ESHEAS] 50,000,000& =« 14 50,000 50,000
= 50,000 50,000
O 245 LIS0ILE 8822 FMA[
MAHEMAE] 30,000,000& * 14 30,000 30,000
=) 30,000 30,000
O 2+ S3I0E SeZda 24X ¢ Xt
HaZX Ex[0AEEEAME]
50,000,000& = 14 50,000 50,000
= 50,000 50,000
O 245 J20IIE sFMA
30,000,000& 14 30,000 30,000
< 30,000 30,000
O 0ES ACOIIE 2%, 3XF A& [0l A
HEEANE] 20,000,0008 * 14 20,000 20,000
= 20,000 20,000
O DEs @ZIXN0IIHE FUHIALE HE=]
Ol &S B M ALE ] 40,000,000& = 14 40,000 40,000
< 40,000 40,000
O lZEsS CH2X0IIME 3822 ZMA[
MEEXAE] 50,000,000 = 14! 50,000 50,000
< 50,000 50,000
O 4= FI0IIHE S#FMA[MLALEEAE
] 30,000,000& * 14 30,000 30,000
< 30,000 30,000
O @55 A0 AOTE FHSZINA[0
MEEMAS] 60,000,000& = 14| 60,000 60,000
< 60,000 60,000
O 955 AAXZSAHOIE S#ZHH
25,000,000& = 14 25,000 25,000
< 25,000 25,000
O &8s AsoHImYelo)otmE 25 Ful[o
MEEMAE] 20,000,000& = 14l 20,000 20,000
< 20,000 20,000




2N
X ZH -
L= B

el

DA B EAHBH ZH(MESX/E)
2

2A-F3H-H2A(3) - MY - BES O] Ak I & Hl w&z2

O &8s EYIXN0ILE M1,2FXE 240 At
HdEEAME] 50,000,000& = 14| 50,000 50,000
= 50,000 50,000

O A58 F2SSOHIME 2% B2SAE 2=
[l EEAIE] 35,000,000& = 14 35,000 35,000
< 35,000 35,000

O A58 F23SO0HIME 3% 2SAE 2=
[l EAIE] 35,000,000& = 14 35,000 35,000
< 35,000 35,000

O ohits 2Y5X Y2 AFHAIES &R
20,000,000& = 14 20,000 20,000
= 20,000 20,000
O orits 200l E XYz otAE 2

20,000,000 = 14 20,000 20,000
< 20,000 20,000

O Ctats ZOot0lINE MYZ tMAIEE &X
20,000,000& = 14 20,000 20,000
< 20,000 20,000

O des SSOHIHE MHDI| £=HHeE Mo
30,000,000& = 14 30,000 30,000
= 30,000 30,000

O dJlE FZ21XN0IIME SZMH[oaLEH
ANE] 30,000,000 = 14 30,000 30,000
< 30,000 30,000

O AJIES FZ2X0IIE A& Hl[olatg A
ANE] 20,000,000& = 14 20,000 20,000
< 20,000 20,000

O XIS FB3XN0ILME T2 ZH[oag A
ANE] 30,000,000 = 14 30,000 30,000
< 30,000 30,000

O WJsS RHOIIIEIHX Ald Hul[oasd
HALE] 20,000,000 = 14 20,000 20,000
< 20,000 20,000

O ANEES ROIEt2 M4 ZHI[HALEEAE]
20,000,000& = 14 20,000 20,000
< 20,000 20,000

O S REFI2x 28 SAE FdlI[of]at
HdEEAME] 50,000,000& = 14 50,000 50,000
< 50,000 50,000

O Hs 2L3CY AL FUI[0ASSEA
2 20,000,000& = 14 20,000 20,000
< 20,000 20,000

O S Ot=E2 M4 ZH[HAEEEAE]
20,000,000 = 14 20,000 0 20,000
< 20,000 0 20,000
Sd0IE M2l X3AAL 0 144,480 A 144,480
= 0 72,240 AT2,240
< 0 14,448 A 14,448
Al 0 57,792 ABT7,792
402 QI2H X201 M 0 144,480 A 144,480




fA: 3

M YD I BS FAHASE L (MI=SX/FH)
& F=HEF N (chel & 9l)
SAH-AH -2 (SA) - HREAY - BES Ol A o4 I AR Husz
= 0 72,240 72,240
= 0 14,448 A 14,448
Al 0 57,792 NAB7,792
02 QIZIXFEAMAE X (O ATHL) 0 144,480 A 144,480
O Zd0lE HMel NHE[SADISDZ 02]
3F o0k 0 144,480 A 144,480
=2 0 72,240 AT2,240
[ 0 14,448 A 14,448
Al 0 57,792 NAB7,792
HAE2AAH| (32D (JIEH/IIE) 97,271 63,471 33,800
ola 29| 19,682 14,682 5,000
ol 29| 19,682 14,682 5,000
101 @124l 19,682 14,682 5,000
03 RINAL22IE S 19,682 14,682 5,000
O A2z 16,502 14,682 1,820
o <U>EZ(ATZAIMAMGYR XTCH=2)
23 16,502,000 16,502 14,682 1,820
O PEZEXNE U AUARS NTHS Y 2
= 150,000 * 2% 300 0 300
O fgdse Necag S|
8,0008 * 29 x 102 « 8 1,280 0 1,280
O ABtH=E2 =2 38X 2 o
20,0008 * 2% * 52 x 8% 1,600 0 1,600
23 77,589 48,789 28,800
Jl23H| 77,589 48,789 28,800
201 LBt 45,140 34,340 10,800
01 A2 22| H| 45,140 34,340 10,800
O Letx2Hl SHA A 23 16,441,000 16,441 15,241 1,200
O S ZH A A AX 28,699,000 28,699 19,099 9,600
202 04l 27,469 9,469 18,000
01 2ol 27,469 9,469 18,000
O BN2Y SHH & A 27,469,000 27,469 9,469 18,000
NEPES(BI2A0) (LS 8HY /NS - 28) 5,145 0 5,145
EFSPNES 5,145 0 5,145
[SRSPNES 5,145 0 5,145
802 BHE 2| E} 5,145 0 5,145
01 2DExZea= 4,774 0 4,774
O 20178 =HZ= 0 AL H|l Ol Xteret
4,774,00080 * 14l 4,774 0 4,774
02 Al - THEXEZ2HE2 371 0 371
O 20178 =HZ= 0 AFHl Ol Xteret
371,0008 * 14l 371 0 371






